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Mark schemes are prepared by the Principal Examiner and considered, together with the
relevant questions, by a panel of subject teachers. This mark scheme includes any
amendments made at the standardisation meeting attended by all examiners and is the scheme
which was used by them in this examination. The standardisation meeting ensures that the
mark scheme covers the candidates’ responses to questions and that every examiner
understands and applies it in the same correct way. As preparation for the standardisation
meeting each examiner analyses a number of candidates’ scripts: alternative answers not
already covered by the mark scheme are discussed at the meeting and legislated for. If, after
this meeting, examiners encounter unusual answers which have not been discussed at the
meeting they are required to refer these to the Principal Examiner.

It must be stressed that a mark scheme is a working document, in many cases further
developed and expanded on the basis of candidates’ reactions to a particular paper.
Assumptions about future mark schemes on the basis of one year’s document should be
avoided; whilst the guiding principles of assessment remain constant, details will change,
depending on the content of a particular examination paper.

Further copies of this Mark Scheme are available to download from the AQA Website: www.aqa.org.uk
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Unit 1

Criteria for Assessment

The assessment objectives will be allocated in the following way.

% of
AS

Marks

AO2

AO3

Response to written language

Knowledge of grammar

75

25

75

25

TOTAL 100 100

The marks will be allocated in the following way.

AO2 AO3

Section 1

Section 2

Section 3

35

10

30

10

15
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Section 1

Question 1

L) The following two or similar.

 S¡e¤u¡l£ j¡­p / M¤h W¡Ê¡ fs­m

 f¢lh¡­ll / h¡h¡ Bl ®h¡­el p­‰
2 marks

M) The following two or similar.

 Nl­jl pju / p¡j¡­l

 h¡h¡l L¡­Sl Q¡f / h¡h¡ L¡­S hÉÚÙ¹ b¡­Le
2 marks

N) Any three of the following or similar.

 l¡e£l h¡¢s / ¢hN­he / ÙfÉ¡ep¡l q¡ES / ®p¾V fm N£SÑ¡ / V¡Ju¡l ¢hÊS /
j¡c¡j a¤­n¡ / m¾Xe ¢Q¢su¡M¡e¡

3 marks

O) The following two or similar.

 ®p "m¾Xe BC'®a Qs­a f¡­l e¡

 n£­al pju "m¾Xe BC' hå b¡­L
2 mark

P) The following or similar.

 J­uø¢j¢eø¡l AÉ¡¢h
1 mark

Q) The following or similar.

 f¡a¡m ®l­m / ¢VE­h / BeX¡lNÊ¡E­ä
1 mark

R) The following or similar.

 h¾X ¢øÊ­V qy¡V­me / ®l÷¥­l­¾V / M¡h¡­ll ®c¡L¡­e Y¥L­me
1 mark

S) The following or similar.

 Beje¡ / AeÉjeÖL
1 mark

T) Any two from the following.

 ay¡l M¤h ¢M­c ®f­m¡

 ®l÷¥­l­¾V ¢N­u M¡Ju¡c¡Ju¡ Ll­me

 M¡Ju¡ q­m ®Vj­pl d¡l ¢c­u ®qy­V fÊ­j¡cal£l ¢c­L ®N­me

 ®Vjp ec£­a ïjZ Ll­me
2 marks

(15 marks)
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Question 2
Any five from the following or similar

 A­eL EyQ¥ / f¤l­e¡ AÉ¡¢h

 fª¢bh£­a ¢hlm /M¤h Lj B­R

 AÉ¡¢h QaÄ­l l¡S¡­cl ¢pwq¡pe B­l¡q­Zl Ae¤ù¡e q­a¡

 l¡S¡-l¡e£­cl jªa¥Él fl ay¡­cl pj¡¢dÙÛ HM¡­e Ll¡ q­a¡

 Hl ¢i¢š ÙÛ¡fe Ll¡ qu 616 p¡­m

 ®p pj­u HC AÉ¡¢hl e¡j ¢R­m¡ beÑ BCmÉ¡¾X

 ¢Lw HXJu¡XÑ H¢V f§ZÑ¡‰ AÉ¡¢h­a l©f¡¿¹¢la L­l Hl ea¥e e¡jLlZ L­le

 l¡S¡ qÉ¡l­ÒXl ¢pwq¡pe B­l¡qZ Ae¤ù¡e HM¡­e qu

 flhaÑ£ ph l¡S¡­cl j¡b¡u l¡Sj¤L¤V fl¡­e¡ q­a¡ HM¡­e

 HV¡ l¡S¡-l¡e£­cl HL ¢hn¡m pj¡¢d ®rœ

 ®p¡e¡l L¡p­L­V pwl¢ra B­R l¡S¡-l¡e£­cl ®cq
(5 marks)

Question 3
One mark should be awarded for each correct answer as given below:

h¡LÉ paÉ E­õM ®eC ¢jbÉ¡

L. ®mML J a¡l f¢lh¡l mä­e R¤¥¢V L¡V¡e Nl­jl pju 

M. ®R¡V M¡m¡ b¡­Le m¾X­el h¡C­l HL¢V nq­l 

N. ®mML N¡¢s­a L­l m¾X­el ¢h¢iæ S¡uN¡ O¤l­me 

O. AÉ¡¢h­a H­p ®mM­Ll i§m i¡P­m¡ Hl ®p±¾ckÑ ®c­Mz 

P. ¢hL¡­m ®mML ®VjÚp ec£­a ®e±L¡ ïjZ Ll­mez 

(5 marks)
Question 4

H­m¡­j­m¡ në…­m¡ ¢WLj­a¡ p¡¢S­u h¡LÉ lQe¡ L­l¡z

One mark should be awarded for each correct sentence as given below.

L) m¾X­e M¤hC W¡Ê¡ f­sz 1 mark

M) ®÷ne ®b­L ®hl q­u AÉ¡¢hl ¢c­L qy¡Vm¡jz 1 mark

N) ®cM¡l fl ®p i§m Bj¡l i¡P­m¡z 1 mark

O) Bjl¡ Y¥­L ®p¡S¡ Q­m ®Nm¡j fÊ¡bÑe¡O­lz 1 mark

P) Bj¡­cl M¤hC ¢M­c ®f­u¢R­m¡ 1 mark

(5 marks)
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Question 5

L = 2 1 mark

M = 3 1 mark

N = 1 1 mark

O = 1 1 mark

P = 3 1 mark

(5 marks)

The mark distribution for the questions in Section 1 are as follows:

Q1 = 15 marks
Q2 = 5 marks
Q3 = 5 marks
Q4 = 5 marks
Q5 = 5 marks
+ Accuracy = 10 marks

Total = 45 marks
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Section 1

Marks Knowledge of Grammar (AO3)

9-10

7-8

5-6

3-4

0-2

The knowledge and use of most structures is good. There are still some
inaccuracies, but these are usually in attempts at more complex structures.

The manipulation of basic structures is generally sound. There are attempts
to use more complex structures, but not always successfully.

There is some awareness of structure. There are still basic errors but
communication is generally maintained.

The level of manipulation of structures and the number of errors make
comprehension difficult.

Shows very little limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.

Section 2 Translation into English.

Marks Response to written language (AO2)

9-10

7-8

5-6

3-4

0-2

Very good understanding of the original text and translated accurately in a
language that has a wide range of vocabulary. Excellent spelling, punctuation
and grammar.

Shows good understanding of the original text and translated in a language
that has a wide range of vocabulary. Accurate, with only a few minor errors in
spelling, punctuation and grammar.

Shows satisfactory understanding of the original text and translated in a
language that has a limited range of vocabulary. Errors in spelling,
punctuation and grammar are intrusive and affect comprehension

Shows poor understanding of the original text and translated in a language
that has a very limited range of vocabulary. Errors in spelling, punctuation
and grammar impede comprehension.

Little or nothing of merit.

Total Section 2 = 10 marks
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Section 3

To assess the Response to Written Language (AO2) and Knowledge & Understanding
(AO3) in this section, the following criteria should be used.

Marks Knowledge/Response/Reaction (AO2)

25-30

19-24

13-18

6-12

0-5

Relevant points are clearly made. The answer is focused on the question and
offers ideas which are logically and clearly developed. Good personal
reaction, usually justified.

The answer is generally on the subject with a number of relevant points, but
not always appropriately supported.

Some relevant points are made, ideas are not clearly organised. Some
reaction is evident, but the points made are not always justified or illustrated.
The answer generally lacks a clear focus.

A limited number of points made, many of which are vague or irrelevant. No
justification for points made.

There is little or nothing of relevance. A zero score will automatically result in
zero for the question as a whole.

Marks Knowledge of Grammar (AO3)

12- 15

8-11

5-7

2-4

0-1

The knowledge and use of most structures is good. There are still some
inaccuracies, but these are usually in attempts at more complex structures.

The manipulation of basic structures is generally sound. There are attempts
to use more complex structures, but not always successfully.

There is some awareness of structure. There are still basic errors but
communication is generally maintained.

The level of manipulation of structures and the number of errors make
comprehension difficult.

Shows very little limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.

Total for Section 3 = 45 marks

Total for Unit 1 = 100 marks




